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[20 points] In each of the following sets of sentences, one sentence has the most ‘natural’ order of the parts.
Put a tick next to the sentence with the most natural order [2 x 2 point], then EXPLAIN WHY it is the most
natural order [2 x 8 points].

1. a. She has probably given a book to her son for his birthday.
b. She has probably given her son a book for his birthday.
c. For his birthday she has probably given her son a book.
d. She has probably given a book for his birthday to her son.
e. To her son for his birthday she has probably given a book.

Why?

2. a. She sang her neighbour’s child from the house across the road a lullaby gently.
b. A lullaby she gently sang for her neighbour’s child from the house across the road.
c. She gently sang her neighbour’s child from the house across the road a lullaby.
d. She gently sang a lullaby for her neighbour’s child from the house across the road.
e. Gently she sang her neighbour’s child from the house across the road a lullaby.

Why?

[30 points] Briefly describe your plans for the summer holidays:


